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BH-0.45m* & IZ AGR ) :
BRLE LA 0.99 X 0.20 = 0198 m’
BH-0.45m* & X AGR ) ;
ERL 0.99 X 1.365 = 1351 m°
3 [y
BH- 040 AR LR D BGHESE RIS TR )
BH-0.45m* &% A 2.702 ( 0198 + 1351)
e + 09 = 098m

BH-0.45m &% A
BtuiE




B EWMAKREATERNAL ¥ HEE
Pt 1 5 It R A HEON IR D) | 51k BEON v R |4 S PR TaX i H AR |84 i T Bk IE R 1m 4 D RAR B & o=
(m) (m) H/100m (H) H/100m (H) A/100m (H) A/100m (H) t/m (t) (m) EEHIE - BES
1.51~1.80[L1 W1 0.215 2.0 NyJRT 0.45m35%
1.81~2.00[1L.2 t1 1.798 t1’ 0.893 b1l 1.00 b1’ 0.70 Q= 99.0 m3/H
2.01~2.30[L3 W2 0.268 2.5 EH B2k
2.31~2.50[L4 t2 2.012 t2 0.964 C= 53.40 m3
2.51~2.80[L5 19.40 , W3 0.322 3.0 PG A AR B
2.81~3.00[L6 t3 2.179 t3 1.060 b2 1.80 b2 1.10
3.01~3.30[L7 W4 0.376 3.5 |D5= 48.69 m3
3.31~3.50[1.8 t4 2.405 t4 1.155
3.51~3.80[L9 t5 2.500 t5’ 1.250 b3 2.80 b3’ 1.70  |wW5 0.430 4.0
SL 19.40
1. #EH R O T (al)
@ #EAI B2 =8Hl L& (C) /Ny IHR7EHERE T (Q) = 53.40 99.0 = 0.539 = 054 H
@ FEEGA A =% (L1+L2, L3+1L4, L5+1L6, L7+L8, L9) X%l H & (t1. t2., t3. t4. t5)
= (( + )X 0.01798 )+ (( + )X 0.02012 )+ ((  19.40 + ) X 0.02179 )
+ (( + )X 0.02405 )+ ( X 0.02500 )= 0.422 =  0.42 H
@ HETHEBEBAKR=ICE(L1+L2, L3+L4+1L5+L6+L7+18. L9) X#&&EH¥ (b1, b2, b3)
= + ) X 0.01000 )+ (( + + 19.40 + + + ) X 0.01800 )
+( X 0.02800 )= 0.349 =  0.35 H
@ GIRAL - IR¥L H B =HH L& (C) X BIRAL - IKR¥L 5 (N m3) (K) /3 A= 53.400 X 0.040 /3N = 0.712 = 0.71 H
al= O+ @ + @ = 054 + 042 + 0.35 + 0.71 = 2.02 H
2. MK H ¥ (ad) = k& (D5) +33. Om3 H = 48.69 =~ 33.0 = 1.475 = 1.48 H
3. 51 B %k (ab)
O RHFIHkH$=4ER (L1 +12, L3+1L4, L5+L6, L7+L8, L) XSl HAk (t1°, 2", 3", 14’ t5)
= (( + )X 0.00893 )+ (( + )X 0.00964 )+ ((  19.40 + ) X 0.01060 )
+ (( + )X 0.01155 )+ ( X 0.01250 )= 0.205 = 0.21 H
@ HETHEAR=1TE (L1+L2, L34+ L4+1L5+L6+L7+1L8, L9) xX#HE#% (b1’ b2 . b3’)
= + ) X 0.00700 )+ (( + + 19.40 + + + )X 0.01100 )
+( X 0.01700 )= 0.213 = 0.21 H
a5= D + @ = 021 + 021 = 042 H
4. FHH A ¥ (a0) =al + (addHAHVNFab TEDO KXW = 2.02 + 1.48 = 350 H (X adDEEEH)
5. ftH %%k (a) = a0 X 30 / 20 = 3.50  X30,/20= 5.25 = 6 H
6. AP (N) = ¥ItE (L) /30m= 19.40 30= 1.00 = 1 [A]
7. HEE (W) =EE (L1, L2+1L3. L4+L5, L6, L7+L8) XixXEH & (W1, W2, W3, W4, W5)
=( X 0.215 )+ (( + ) X 0.268 )+ (( +  19.40 )X  0.322 )
+ (( + )X 0.376 )+ (( + ) X 0.430 )= 6.2468 == 6.247
8. 10 E k= E R (W) X 30m it & (L) = 6.247 _ X30/ 30.00 =  6.2470 = 6.247

XUIEAL - IR 7785

(N/m3) (K)=0.04 (~'y/%70.45m3H%)




B F 25 T4 . . o
OB M & A T BB A KA S
fIE 1 i e R HIA B E Ny ARD) | 5l B EON v RD) | 84 SR TRk e B AR (84 TS A E R Im S 0 R E & KR )

(m) (m) H/100m (E) H/100m (H) A/100m (H) A/100m (H) t/m (t) (m EFHME-ES
1.51~1.80[L1 0.00 W1 0.215 2.0 ANyIRY 0.45m3H%
1.81~2.00[1.2 0.00 |t1 1.798 t1’ 0.893 bl 1.00 b1’ 0.70 Q= 99.0 m3/H
2.01~2.30|L3 75.00 W2 0.268 2.5 PEEI &4k
2.31~2.50[1.4 63.00 |t2 2.012 t2 0.964 C= 268.38 m3
2.51~2.80|L5 0.00 , W3 0.322 3.0 R AR B
2.81~3.00]L6 0.00 [t3 2.179 t3 1.060 b2 1.80 b2 1.10
3.01~3.30[L.7 0.00 W4 0.376 3.5 |D5= 180.90 m3
3.31~3.50]L8 0.00 [t4 2.405 t4 1.155  FF g
3.51~3.80[1.9 0.00 [t5 2.500 t5’ 1.250 b3 2.80 b3’ 1.70 W5 0.430 4.0 |Al= 207.60 i

>L 138.00
1. JEHI RO+ T (al)
O #HHI B =M#H] & (C) /v IHRUE¥ERE N (Q) = 268.38 99.0 = 2710 = 2.71 H
@ FAEEGA R $ =R (L1+L2, L3+L4, L5+L6, L7+L8, L9) X &% H 4 (1. t2, t3, t4, t5)
=(( 0.00 + 0.00 )X 0.01798 )+ ((  75.00 + 63.00 )X 0.02012 )+ (( 0.00 + 0.00 )X 0.02179 )
+ (( 0.00 + 0.00 )X 0.02405 )+ ( 0.00 X 0.02500 )= 2.776 = 2.78 H
@ MR THE A=K (L1+L2, L3+L4+L5+L6+L7+L8, L9) Xi& A%t (b1, b2, b3)
=((C  0.00 + 0.00 )x 0.01000 )+ (( 75.00 + 63.00 + 0.00 + 0.00 + 0.00 +  0.00 )X 0.01800 )
+ ( 0.00 X 0.02800 )= 2.484 =  2.48 H
@ GIRAL - IR L H H=4 ) + 5 (C) X BIRAL - KRB L9 % (N m3) (K) /3 A= 268.380 X 0.040 /3N = 3.578 =  3.58 H
al=0+@+0@®+ @ = 271 + 2.78 + 2.48 + 3.58 = 11.55 H
2. MR 0¥ (ad) =ML 2% & (D5) +~33. 0m3,/ H = 180.90 = 33.0 = 5481 = 548 H
3. TSIk B % (ab)
O FHBI B =FE L1+L2. L3+L4. L5+1L6. L7+L8. L9 Xal#k B (t1 . t2 . t3 . t4 . t5")
=(( 0.00 + 0.00 )X 0.00893 )+ (( 75.00 + 63.00 )>< 0.00964 )+ (( 0.00 + 0.00 )X 0.01060 )
+ (( 0.00 + 0.00 )X 0.01155 )+ ( 0.00 X 0.01250 )= 1.330 = 1.33 H
@ R THE R =4ER (L1+L2, L3+L4+L5+L6+L7+L8, L9) X £%% (b1’ b2’ b3’)
=((C  0.00 + 0.00 )x 0.00700 )+ (( 75.00 + 63.00 + 0.00 + 0.00 + 0.00 +  0.00 )X 0.01100 )
+ ( 0.00 X 0.01700 )= 1.518 = 1.52 H
a5= D + @ = 1.33 + 152 = 2.85 H
4. FHH A% (a0) =al + (addD\ M Fab TIEDO KX ) = 11.55 + 548 = 17.03 H (% adDfEZFRM )
5.l B (a) = a0 X 30 / 20 = 17.03 X30,/20= 2554 = 26 H
6. i IR (N) = #IER (L) /30m= 138.00 /30— 460 = 5 [A]
7. FEHAEEW) = (L1, L2+L3, L4+1L5 L6, L7+L8) X HEHEBE (W1, W2, W3, W4, W5)
= ( 0.00 X 0.215 )+ (( 0.00 + 7500 ) X 0.268 )+ (( 63.00 + 0.00 )X  0.322 )
+ (( 0.00 + 0.00 )X 0.376 )+ (( 0.00 + 0.00 )X 0.430 )= 40.3860 = 40.386
8. lvhYhEE=FHEREW) X30m HIEE (L) = 40.386 X 30/ 138.00 = 8.7795 = 8.780

KUIAL R BILH#H (N m3) (K) =0.04 (»'v/£70.45m3%%)




VRS0 E  RAEH X AR SR 2 5 T

)

O E R m R E

I X 54 "1 1H A IH E R
ASH e NE TR ASH eAsEs | BJEsg [ B e | e
— T - B E I A 75.00 75.00 75.00 75.00 187.50 75.00
— e & 75.00 75.00 75.00 75.00 187.50 75.00
— i - 83.40 83.40 83.40 83.40 347.50 139.00
— T - B A A 63.00 63.00 63.00 63.00 157.50 63.00
— e & 146.40 146.40 146.40 146.40 505.00 202.00

o 221.40 221.40 221.40 221.40 692.50 277.00




B

i 1&

B @ &

S

iR

ERERE2ETE
BRI E S I BT (t=150)| TR I (t=450)| ;& FHIHIE (m?) JEIT
& # 1.4mRKR il 1.4m~30mETF | 30mZ#E~6.0mLLT H 25m K 2.5mKii 25mk i
— & VS = 2214 2214 221.4 2214 2214
(R#E18) Bt 5 49 49 49 49 49
(t=3cm) it 226.3 226.3 226.3 226.3 226.3
—fgTE X 5 692.5 775.6 83.1
(XE18) HR fF = 8.8 11.3 25
(t=Tcm) it 701.3 786.9 85.6
FE Rk A E %® I FBBRET(=190) | TREBIT(=450)| & EMHE (md) BIETRs
& 14mkiE 14m~30mET | 30mZE#E~60mLL T E 2 5mkK i 2 5mkKi 2 5mkKi
X 5
B #F &
&t
P 15
B & &
it
R E % I FREBRET(=120) | FTRERKBIT(t=300)| ;& _FiMHIB (md) PIETRs
& ¥ 1.4mR il 1.4m~30mETF | 30mZ#E~6.0mLLT H 25mKii 2.5mKii 25mk i
VS &
B # &
&t
X 5
B & &
it
A & = T rTERET TERET B EHEIE (m) YIEIT
W 1 AmEKiH 1.4m~30mETF | 3.0m#%E#E~6.0mLLT B 25mk i 25mkiE 25mk i
X 5
B & &
it
kA & ® T FERET TERET E IR (m) YIEIT
M 1 AmEK i 1.4m~30mETF | 3.0m#%E#E~60mLLT B 25mE i 25mk i 25mk i
X 5
B & &
&t
| & E A= 786.9 i & LI (LA V= 453 )
5 A - ok R XF
SR L= 210.0 m AR () AR (H) At (&) et (&) (B -3=#&-15cm)
X B % 210.0
FRE L= 210.0 m A (thR)
210.0




sls Et
X # U ©H H =
ERBRFE2EILE
£FdEE = 13 =+ =
Et% %E % Iz FEﬁ nﬁzkj; H LE ﬁ*ﬁ ) E%ia ﬁia:
m m m m m
TiR115 M 92 ~M 91 0.03 0.30 75.00 2250 0.67 |—#gthi&E
TiR125 M 91 ~M 89 0.03 0.30 202.00 60.60 1.81 |—figmh&E
i 277.00 83.10 2.48 |—HETE
& F 277.00 83.10 248




- E}'L
H & R %8 & N
Bk FE2E TS

I iz b5:] % H = = # =

EikE B2 XK 1tyh(BOm)HYEE xE 40386 %30/ 138

W& 6.247 x 30/ 19.4
46633 x30/ 1574 = 8.890 t 8.89 t
BT HEET — & 2 & 2 &
"EE ERREE R 1E 2770 m - 100 m/ B = 30 HERr 3 &
BT EEE hASHEE AER 136.05 m 136.1 m
mftE A 1 HERr 1 HEfr
THERABRT 1 & 1 &R
SEABT EEERFHELY 212.95 m 2130 m




B R 2 T

KEBE A7/ EIGRERE fHEE
AE st aF
BRIEE L 277.00 19.40 296.40
D1 (Fef ) 19.32
BRI EEEE (WD HHf) 47.52
B ATE S AR R D2 0 6.58
B Rk E (D3 36.78 0
HEHSEEE [D4 120.37 42.11
MRS D5=D2+D3+D4| 157.15 48.69] 205.84
1. AT (al)
BIRER A AS & I USRI E B $=D1+97. Om3,/ H WA FamiE
=D1-+33. 0m3,/H I
19.32 + 97.0 = 0.199 = 0.20 H
47.52 =+ 33.0 = 1.440 = 1.44 H
g 1.64 H
2. EAEk H ¥k (a2)
(ANOhET) A A# = FHEEE X fiss#  2A
(Bebiie T.) EAax U = THRIER X s
AN J7hi I 7150 136.05 X 0.038 2= 2584 = 2.58 H
NV RUE100 212.95 X 0.032 2= 3407 = 3.41 H
N2} VU% 150 19.40 X 0.018 2= 0.174 = 0.17 H
AN 6.16 H
B 0.00 H
g 6.16 H
3. R H% (a3)
PR B A AR R - B LR H #.=D5+33.0m3,/ H
205.84 +~ 33.0 = 6.237 = 6.24 H
4. K& H# (a0)
a0 = al + a2 + a3 = 14.0 = 15 H
5. N7 R ORI R E
PHRIER (L) /50
277.00 / 50 = 5.54 = 6 fET
D RER
KREERE  EETE
15 / 6 = 2.5 = 3 H HEpr




ALRE AR E

=

1. ERM O P2 (al)

tes 17.03 H
IE 3.5 A
= 20.53 H
2. Bt L B EGHE E@R2)
& 5] s BN PG = & & B4 T8l B %%
AT o -
BEREL 2BE0emET)|) m 226.3 226.3 268 | 1.69
ol L 2JE@A0ecmET)| ot 268
T e T e -
HaMT 3EE0mET)| m 226.3 226.3 268 | 2.53
A E = Al W81 Am A 2
e TONIRET) | s sl b~ 3smmakits | ™ 226.3 226.3 250 | 0.91
As t=15cmlL T m 240
EE IR 1
Co t=15cmlL T m 150
SAE AR AR T t=10cmLL T m 810
e ERY BB, B | m3 57
s 2
NREEEIE m 701.3 701.3 1,580 0.44
HE E1.4mPL F le
. " 1=25mmB_b~70mmAis 701.3 786.9 1488.2 2300 | 0.65
MRLEERIEL) SRl 2
t=25mmPA_F~70mm A m 1,000
" TR GIA ;
B BIHI T W h=3cm bl T m 85.6 85.6 1,800 | 0.05
%%-ﬂoﬁwwm AE | o
. SR % 1R) 1 5em 210.0 210.0 8,200 |  0.03
PR T . 10 -
481 50m 210.0 210.0 1,500 | 0.14
s
6.44
3. H#k(a0)
a0 = al + a2 = 27 H
AR i BB 27 X = 54.0 A




i B& fE T —fgma
B w= 0.91 3
No scale
TR L= 1.50
B H= 1.50 1,500
18 108RmE fEHIETE
QBELEEHIEA(13)
30 SHEREIRT 20
_ Ashi
190 filo
w10 foﬁ—ﬁo
- 1,430
630 %{E\I
AERrEY)
YT L= ( 0.9 x 2 + 15 x 2 ) x 1 50 m
THERRENT A= 0.91 X 1.50 x 1 14 m
1EH-TE5A V= 0.91 x 1.50 X 143 x 1 20 m
BRI (L) V= 0.91 X 1.50 X 0.63 X 1 0.9 m
BRI (BERAD) V= 0.91 X 1.50 X 0.20 X 1 0.3 m
e V= 20 - ( 0.9 + 0.9 ) X 1 1.0 m
ASTRIEE- 05> V= 0.91 X 1.50 X 0.07 X 1 0.1 m
L EBEEAET(C-20) A= 0.91 x 1.50 X 1 14 m
TE#2 T (RC-40) A= 0.91 X 1.50 X 1 1.4 m
S REI A= HHEBRERIICRC 14 m

(BEBHEAs(13)t=3cm PI—})




